(R—=/8—=> =7 RAHE—F] \
RKE4 2023¢ f&ﬁﬂFEl FEMHEERT  ARFEXE
= 5 WRATHREARE
BHER 2023$9ﬁ10l3
F # EFER—INIL—LFOREE 7R)— Mg
ZBEE A= 1 FAX A
B= 2 A% KF
C= 3 /#k BEX
D= 4 BfH i
E= 6 flH =F
HER B
W T & B #
No. ABCDE ABCDE &t fi ® Y —4—
1 wbkkk dokkkx 10 1 P LG i
2 xkxkk kkkkk 10 1 P HH —=
1210
R OB
No. !)—%&— IN— | F— B {iz
1 g B KigE 8L ¥ 241
2 &H —=% ik #2F 114
2B Waltz B Tango
No. A B C D EIJEf No. A B C D EIJEfz
12 2 2 2 2 2 12 2 2 2 2 2
2 11 1 1 1 1 2 11 1 1 1 1
GEE
N. W T && B /11
1 2 2 4 2
2 1 1 2 1
=IEHER
g i HEES )V—4F— IN—bF— EHRES & XB ENB &
g 14L 2 5H —= i HEoF 11207215 RHFE
¥ 241 1 Ul X KigE 8L 11157016 g
R 15 3 /K E2 =28 k=F 11018314 dtiEE

N\

A



